
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 

PARKER BED 
(SINGLE & DOUBLE) 
OVPARKEBSBA, OVPARKEBSGA, OVPARKEBSNA, OVPARKEBDBA, OVPARKEBDGA & 
OVPARKEBDNA 



  



 
 
 
 
 

• Read these instructions carefully before assembly.  Retain this user guide for future 
reference.  

• Assemble this furniture in strict accordance with these instructions. 

• Clean the surface of the furniture using a soft, slightly damp cloth.  Do not use any 
abrasive cleaners or solvents.  

• Use of mismatched hardware may cause damage to the product.  Ensure only the 
correct hardware is used in each step. 

• Do not exceed the maximum weight limit of 350 kgs. 

 
  

         SAFETY & WARNINGS 



 
 
 
 
 
Lay all components out on a clean floor and ensure all parts are included. If any pieces are 
missing, check all packaging thoroughly, then contact help.Kogan.com for assistance. 

 

   

A (x2) B C (x2) 

   

D (x2) E (x2) F 

 
 

 
  

1 M4x50 (x6) 2 (x25) 3 M8x20 (x12) 4 (x4) 5 (x2) 

  
 

  

6 M3x16 (x8) 7 Ø25 (x5) 8 Ø25 (x5) 9 M8x70 (x5) 10 Ø38 (x4) 

    

11 M8x40 (x8) 12 M4x35 (x20) 13 M4x25 (x37) 14 Allen key 

 
  

       COMPONENTS 



 
 
 
 
Step 1: 

 

1 M4x50 (x6) 

 

 

 
  

      ASSEMBLY 



 
Step 2: 

 
   

 

2 (x8) 3 M8x20 (x8) 4 (x4) 5 (x2) 6 M3x16 (x8) 

 
 
 

 

  



 
Step 3: 

 
 

 
   

2 (x9) 3 M8x20 (x4) 7 Ø25 (x5) 8 Ø25 (x5) 9 M8x70 (x5) 10 Ø38 (x4) 

 
 
 

 

 
  



 
Step 4: 

   

2 (x8) 11 M8x40 (x8) 12 M4x35 (x20) 

 
 
 

 

  



 
Step 5: 

 
13 M4x25 (x37) 

 
 

 

 
  



 
Step 6: 
 
 
 
 

 

Complete! 

 
 
 
 
 
 
 
 
 
 
 
  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

        NOTES 



 

 

 

 

 

 

 

 

 

 
Need more information? 

We hope that this user guide has given you 
the assistance needed for a simple set-up. 

For the most up-to-date guide for your product, 
as well as any additional assistance you may require, 

head online to help.kogan.com 

 
 

 


